F£34E #HFRNNBD1=27EHEHREEFEXE (R4.9.17~19)
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Gifz¥ov=)
ik | #5 . - 2N I Bk E EQ;‘CL\ EHE 1P fJ\

it | g | EFA FoLE | |BREM IET 2E TR BE [B] BE |E] &
1 5 [/hEE FEE KHIEER 7 A [T 3] 50.950 [ 7 | 12. 550 2 | 13. 200 5 12.200 | 9 | 13. ooo
2 |%#E WIHE KHIhiA#ER s A |[F 3] 53.350 | 1| 14.000 [ 3 | 12.800 | 4 | 12.600 | 2 | 13.950
3 |KEF T KmEhiAER s A [P 2] 52.000 | 2| 13.600 [ 6 | 12.350 | 7 | 12.050 | 1 | 14.000
o ez KHIEERZ A P2 ——— ——— ——— ——— ———
~NZ k3 156. 300 40. 150 38. 350 36. 850 40. 950
2 7 R KELAE SRC A F 3] 50.250 [ 6] 122600 | 7 12.250 [ 5] 12.200 [ 7 | 13.200
8 |1 #IHE SRC A F1 3] 48.750 | 5 | 12.800 | 8 | 12.150 | 11| 11.500 | 16| 12.300
13 |hiEE e SRC A F 1] 44.750 | 13| 12.300 | 16| 9.400 | 13| 11.150 | 19| 11.900
14 P 0EE SRC A 1] 44.300 [ 10] 12.500 | 15| 10.050 [ 30| 9.900 | 21| 11.850
~NZ k3 144, 600 37.900 34. 450 34. 850 37. 400
3 10 |EALRSETH2E EHn A 3] 47.900 [ 7| 12.550 | 4 | 12.650 [ 34 9.800 [ 10| 12.900
1 |mErE B3R EHn A F13] 54.350 | 3| 13.500 | 1 | 13.300 | 1 | 13.750 [ 3 | 13.800
28 |/INEEES A EHn A F1 3] 41.250 | 18| 12.100 | 45| 7.450 | 26| 10.250 | 27| 11.450
29 |WhH A8t EHn A dr2l 41.150 [ 16| 12.250 | 32| 8.200 | 38| 9.750 [ 36| 10.950
~NZ k3 144. 400 38. 300 34. 150 33. 800 38. 150
4 9 |t HHh AR B [13] 48.650 | 7 | 12.550 | 12| 10.800 [ 8 | 11.700 | 4 | 13.600
20 |'ER HK KHEIhAER 7 B | 2| 43.250 | 12| 12.400 [ 35| 8.100 [ 21| 10.600 | 18| 12.150
24 [EiE <5 KHEIAER 2 B | 1| 42.000 | 18] 12.100 | 26| 8.650 [ 34| 9.800 | 27| 11.450
6 [BH 5% KA B | 1] 50.300 | 11| 12.450 [ 9 | 11.500 | 2 | 13.100 | 6 | 13.250
~NZ k3 142. 750 37. 400 30. 950 35. 400 39. 000
5 16 [IhH R YSMC A [F3] 43.850 [30] 11.800 [ 18] 9.350 [ 16 10.800 [ 19| 11.900
11 |lim 3¥H YSMC A |#2| 46.650 | 17| 12.200 [ 13| 10.450 | 10| 11.650 | 14| 12.350
15 |7 O YSMC A [F1] 43.900 | 13| 12.300 | 20| 9.000 | 8 | 11.700 | 38| 10.900
17 NEAKOED YSMC A [#1] 43.600 | 22| 12.000 [22] 8.900 | 12| 11.400 | 30| 11.300
~NZ k3 135. 600 36. 500 28. 800 34. 750 35. 550
6 12 [IbE  FifE UaAFAEERA [P 3] 45.700 | 13| 12.300 | 14| 10.100 [ 16| 10.800 | 11| 12.500
25 |/ ERR Ca A fHREHA (3] 41.550 | 28| 11.850 | 27| 8.600 | 40| 9.600 | 25| 11.500
21 T Bl Ca A FAEEEA [P 2] 43.200 | 25| 11.900 | 37| 7.950 | 15| 10.950 | 12| 12.400

27 8K RRAE Va A fEREEA [ 1] 41.300 | 35| 11.650 | 33| 8.150 [30] 9.900 | 24 [ 11.600

~NZ k3 131. 050 36. 050 26. 850 31. 650 36. 500

7 43 |EIR BREEEE FLIP A [#3] 37900 [21] 12.050 [63] 6.250 [ 57| 8.150 [ 27] 11.450
18 %= #HJy FLIP A |#3] 43.400 | 41| 11.150 [ 33| 8.150 | 14| 11.000 [ 8 | 13.100

30 |APRH A FLIP A [|F2] 40.700 | 42| 11.100 | 31| 8.300 | 28| 10.100 | 32| 11.200

21 |'#m AE FLIP A |#2] 43.200 |22 12.000 [22] 8.900 | 30| 9.900 [ 12| 12.400

~NZ k3 128. 500 35. 200 25. 350 31. 000 36. 950

8 37 |miEr HHE R 2=7 A [F2] 39.650 [ 25 11.900 [ 56| 6.850 [ 19] 10.700 [ 46 [ 10.200
3B |fER xR RS2 =7 A |3 39.700 | 47| 10.400 | 46| 7.400 | 28| 10.100 [ 22| 11.800

34 |k EE R 2=T7A |F1| 39.850 | 54| 10.250 | 36| 8.000 | 25| 10.300 [ 30| 11.300

50 P\Bx & H R 2=7A | 1] 35.800 | 51| 10.300 | 44| 7.500 [ 60| 7.700 |44 10.300

~NZ k3 120. 000 32. 600 22. 900 31. 100 33. 400

9 46 [BH W YSMC B 3] 37.300 [ 32 11.750 [ 64| 6.200 [ 53] 8.300 [ 33| 11.050
35 | B YSMC B B 1] 39.700 | 35| 11.650 | 49| 7.300 | 27| 10.200 | 41| 10.550

60 |HAR, =3¢ YSMC B F1] 32.300 | 71| 9.450 | 68| 5.750 [ 41| 9.200 | 67| 7.900

25 | B9 7nE YSMC B 2] 41.550 [ 40| 11.450 | 19| 9.100 [ 24| 10.400 | 40 | 10.600

~NZ k3 119. 450 34. 850 22. 600 29. 800 32. 200

10 39 | K#gE = L5 B Fr3[ 39.500 [ 39| 11.500 | 24| 8.800 |44 8.900 [ 44| 10.300
49 =R xR EHn B F 3] 36.650 | 37| 11.600 | 43| 7.700 [ 53| 8.300 | 59| 9.050

54 |RAF W L5 B dr 1| 35.300 | 60| 10.000 | 41 7.800 | 60| 7.700 |49 9.800

33 |/KH AHRAE L5 B 1] 40.000 [ 18] 12.100 | 20| 9.000 [42] 9.100 | 49| 9.800

~NZ k3 117. 000 35. 200 25. 600 26. 300 29. 900

11 51 | W #EH2=7B [F3] 35.700 [ 51 10.300 [ 58] 6.650 [34] 9.800 [ 60| 8.950
44 I Fi+ R o=7B (B3] 37.750 | 51| 10.300 | 51| 7.200 | 23| 10.500 | 52| 9.750

45 |28 mem R 2=7B |2 37.600 | 57| 10.050 | 48| 7.350 [ 39| 9.700 [ 43| 10.500

38 | =K {EIRT R =2=7B |f3] 39.600 | 44| 10.800 | 27| 8.600 [ 49| 8.700 [ 25| 11.500

~NZ k3 116. 300 31. 400 23. 150 30. 000 31. 750

12 30 [ KT FER CaAFEEEB [+ 3] 40.700 | 47| 10.400 | 30| 8.500 | 16| 10.800 [ 34| 11.000
47 |EH WEF CaAtEREEB |1 3] 36.850 | 28| 11.850 | 40| 7.850 [ 69| 6.200 [ 36| 10.950

62 |JHH &EJhHE CaAFEEB (2] 31.700 | 57| 10.050 | 66| 6.000 | 73| 5.700 [ 48| 9.950

58 |WaH EE JaAfHEEB [F 1] 33.300 | 60| 10.000 | 71| 5.100 [ 52] 8.400 | 49| 9.800

~NZ k3 111.950 32. 300 22. 350 25. 400 31. 900

13 52 | =% PFE SRC B F 3] 35.550 [ 37 11.600 [ 54| 6.900 [ 67] 6.500 [ 41| 10.550
42 |INEA K SRC B Fr2l 38.100 | 25| 11.900 | 41| 7.800 | 47| 8.800 | 54| 9.600

47 |FEH O FE SRC B F 2] 36.850 | 43| 10.900 | 65| 6.050 [ 44| 8.900 | 34| 11.000
SRC B ——— ——— ——— ——— ———

~NZ k3 110. 500 34. 400 20. 750 24. 200 31. 150




40 [#ER EEK B[R 3] 38.450 [ 47] 10.400 [27] 8.600 [60] 7.700 [ 23 11.750
65 | EAEE B [F2] 31.250 [ 66| 9.950 | 62| 6.300 [65] 7.150 |68 . 850
56 |/ I B |4 1| 34.900 | 46| 10.500 | 59| 6.600 | 49| 8.700 [ 58| 9.100
63 |E WE B 1] 31.600 | 57 10.050 | 46| 7.400 [ 74| 5.650 | 63| 8.500

~ 2|3 106. 450 30. 950 22. 600 23. 550 9. 350
57 |priban R Fi2] 33.700 [ 60 10.000 |51 7.200 [59] 7.900 [ 62| 8.600
64 |AH HE 1l 31.300 [ 69| 9.700 | 73| 5.000 [ 42| 9.100 [ 70| 7.500
71 |BEH FEK Fr2] 29.100 | 47| 10.400 | 67| 5.900 [ 71| 5.900 | 71| 6.900
66 |AA Mk ol 31.200 | 66| 9.950 | 57| 6.800 [60| 7.700 [ 72| 6.750

~NZ k3 97. 950 30. 350 19. 900 24. 700 23. 000




$34E ARNEBD1ZTHRBEGEREFERST (R4.9.17~19)
LF hFEE EFE

EPN =
Be | B &8 B 5 EGELY EHE P H
B EF 4 F—L4% £ &5t | Ba (]| &8 (]| 88 || &=
1 |HmE B3 EH0 A m 3] 54.350 [ 3] 13.500 | 1 [ 13.300 [ 1 [ 13.750 [ 3 | 13.800
2 |#%EE WIVE KHINEE 2 A [ 3] 53.350 | 1| 14.000 | 3| 12.800 | 4 | 12.600 | 2 | 13.950
3 |k L KHEEE 7 A P2l 52.000 | 2| 13.600 | 6 | 12.350 | 7 | 12.050 | 1 | 14.000
4 |& NG| WL |1 51.700 | 4 | 12.850 | 5 | 12.600 | 3 | 12.750 | 5 | 13.500
5 |/ BEE KHDhAREE 7 A [F 3] 50.950 | 7 | 12.550 | 2 | 13.200 | 5 | 12.200 | 9 | 13.000
6 [BHE 57 KA B [ 1] 50.300 | 11| 12.450 | 9 | 11.500 | 2 | 13.100 | 6 | 13.250
T s KEE SRC A 3] 50.250 | 6 | 12.600 | 7 | 12.250 [ 5| 12.200 | 7 | 13.200
8 | FIHE SRC A 3 48.750 | 5 | 12.800 | 8 | 12.150 | 11| 11.500 | 16| 12.300
9 [t HHM,» KA 7 B [ 3] 48.650 | 7 | 12.550 | 12| 10.800 | 8 | 11.700 | 4 | 13.600
10 |EARIEEE L5 A 3l 47.900 | 7 | 12.550 | 4 | 12.650 [ 34| 9.800 | 10| 12.900
11 |IhH XA YSMC A [F2] 46.650 | 17] 12.200 [ 13] 10.450 [10] 11.650 [ 14| 12.350
12 |1iH 24k Ca A FEEA 3] 45.700 | 13| 12.300 | 14| 10.100 | 16| 10.800 [ 11| 12.500
13 |JnpkE  fEAE SRC A 1| 44.750 | 13| 12.300 | 16| 9.400 | 13| 11.150 | 19| 11.900
14 [ e SRC A 1| 44.300 | 10| 12.500 [ 15| 10.050 [ 30| 9.900 | 21| 11.850
15 78 BB YSMC A |F1] 43.900 | 13| 12.300 [20] 9.000 [ 8 | 11.700 | 38| 10.900
16 [IhH  #A YSMC A [F3] 43.850 | 30| 11.800 [ 18] 9.350 [16] 10.800 [ 19] 11.900
17 BEKOED YSMC A |1 43.600 | 22| 12.000 [ 22| 8.900 [ 12| 11.400 | 30| 11.300
18 |B= #TY FLIP A [f3] 43.400 41| 11.150 | 33| 8.150 | 14| 11.000 | 8 | 13.100
19 [EA &P MSC Hr 1] 43.350 [ 30| 11.800 | 16| 9.400 | 34| 9.800 | 14| 12.350
20 |BRE BK KA 7 B [ 2| 43.250 | 12| 12.400 | 35| 8.100 | 21| 10.600 | 18| 12.150
21 7 wEEl PaA R A [ 2] 43.200 | 25| 11.900 [ 37| 7.950 | 15[ 10.950 | 12| 12.400
21 |ZH X FLIP A [f2] 43.200 |22 12.000 | 22| 8.900 | 30| 9.900 | 12| 12.400
23 2| BH MSC 3| 42.700 | 32| 11.750 [ 24| 8.800 [30] 9.900 | 17| 12.250
24 EpE =<5 KA 7 B [ 1| 42.000 | 18| 12.100 [ 26| 8.650 | 34| 9.800 | 27| 11.450
25 | EBE ZRE YSMC B |+2] 41.550 | 40| 11.450 [ 19| 9.100 [ 24 ] 10.400 | 40| 10.600
25 /i R PaA R A [ 3] 41.550 | 28| 11.850 [ 27| 8.600 [ 40| 9.600 | 25| 11.500
27 |8k #k4E JaAFBFEA [P 1| 41.300 | 35| 11.650 [ 33] 8.150 [ 30| 9.900 | 24| 11.600
28 |/INBER AR L5y A 3 41.250 | 18| 12.100 | 45| 7.450 | 26| 10.250 | 27| 11.450
29 |wimE A L5 A 2l 41.150 | 16| 12.250 | 32| 8.200 | 38| 9.750 | 36| 10.950
30 [ KXAT CaAfEEB (3] 40.700 | 47| 10.400 | 30| 8.500 | 16| 10.800 | 34| 11.000
30 [ALRHE A FLIP A [f2] 40.700 |42 11.100 | 31| 8.300 [ 28] 10.100 [ 32| 11.200
32 |HR JESE SRC 2l 40.650 | 22| 12.000 [ 38| 7.900 |22 10.550 | 46| 10.200
33 |kH  HEAE L5\ B H1| 40.000 | 18] 12.100 [20] 9.000 [42] 9.100 [ 49| 9.800
34 |fERE =8 AR o =7 A |+ 1| 39.850 | 54| 10.250 [ 36| 8.000 | 25| 10.300 | 30| 11.300
35 |t W EE R =7A 3| 39.700 | 47| 10.400 [ 46| 7.400 [ 28| 10.100 | 22| 11.800
35 |#ERE B A YSMC B [F1f 39.700 | 35| 11.650 | 49| 7.300 | 27| 10.200 | 41| 10.550
37 |mi% BHE R o =7 A [P 2 39.650 | 25| 11.900 | 56| 6.850 [ 19| 10.700 | 46| 10.200
38 =4k EIT R =78B 43| 39.600 | 44| 10.800 | 27| 8.600 | 49| 8.700 | 25| 11.500
39 [ K#E =Jh b5 B F1 3] 39.500 [ 39| 11.500 | 24| 8.800 | 44| 8.900 | 44| 10.300
40 |BEJR EIR FLIP B [#3] 38450 [47] 10.400 [ 27| 8.600 | 60| 7.700 | 23| 11.750
40 |¥RH  #Hfb PR 1| 38.450 | 34| 11.700 |38 7.900 [ 58| 8.050 | 39| 10.800
42 |IELS WA SRC B 2l 38.100 | 25| 11.900 | 41| 7.800 | 47| 8.800 | 54| 9.600
43 |HRIR BEEEfE FLIP A [f3] 37.900 |21 12.050 | 63| 6.250 | 57| 8.150 |27 | 11.450
44 L #+ R o =7 B [P 3] 37.750 | 51| 10.300 |51 ] 7.200 [23| 10.500 52| 9.750
45 A% mEEE R Y2 =7B |[h2| 37.600 | 57| 10.050 | 48] 7.350 [ 39| 9.700 | 43| 10.500
46 |HH WH YSMC B |3 37.300 | 32| 11.750 [ 64| 6.200 [ 53] 8.300 [33] 11.050
47 |EH WEF o A FHBJEB | 3] 36.850 | 28| 11.850 | 40| 7.850 | 69| 6.200 | 36| 10.950
47 |EHR FE SRC B 2| 36.850 | 43| 10.900 [ 65| 6.050 [ 44| 8.900 | 34| 11.000
49 |=R XxHR L5\ B 3| 36.650 | 37| 11.600 [ 43| 7.700 [ 53] 8.300 [ 59| 9.050
50 [J\Bx 1&H FER 2 =7 A [P 1| 35.800 | 51| 10.300 | 44| 7.500 | 60| 7.700 | 44| 10.300
51 | WA R 2 =7 B [ 3[ 35.700 | 51| 10.300 | 58| 6.650 [ 34| 9.800 [ 60| 8.950
52 |==& HELE SRC B 3| 35.550 | 37| 11.600 [ 54| 6.900 [67] 6.500 | 41| 10.550
53 |AEH 2 WEE S |3l 35.400 | 68| 9.900 | 54| 6.900 | 46| 8.850 | 52| 9.750
54 |k B3P L5\ B F 1 35.300 | 60| 10.000 | 41| 7.800 | 60| 7.700 [ 49| 9.800
55 |fE i H —BGC 2l 35.050 | 45| 10.700 | 60| 6.550 | 51| 8.600 | 57| 9.200
56 [/ EEE FLIP B [F1] 34.900 [ 46] 10.500 [ 59 6.600 | 49| 8.700 [ 58| 9.100
57 | =E HI7A 2l 33.700 | 60| 10.000 | 51| 7.200 | 59| 7.900 62| 8.600
58 |f®M HEZ Ca A FHEJEB [P 1| 33.300 | 60| 10.000 | 71| 5.100 | 52| 8.400 [ 49| 9.800
59 [E/A NRF4—]Jr F1 2] 32.800 [ 60| 10.000 | 49| 7.300 | 71| 5.900 | 54| 9.600
60 |IE S FiHk B o =7 |F 2] 32.300 | 60| 10.000 [ 53| 7.050 | 74| 5.650 [ 54| 9.600
60 [EHR 3¢ YSMC B |1 32.300 |71 9.450 [68] 5.750 [41] 9.200 [67] 7.900
62 |JRH EIUHE JaAfEEEB |H 2] 31.700 | 57| 10.050 [ 66| 6.000 | 73| 5.700 | 48| 9.950




63 | B FLIP B |91 57| 10. 46| 7.400 | 74| 5.650 | 63| 8.
64 |FH WE HTeA 1 69| o. 73| 5.000 | 42| 9.100 | 70| 7.
65 |ZEf EHEE FLIP B |f2 66| 9. 62| 6.300 [65] 7.150 [68] 7.
66 |BA Mk HT A 2 66| o9. 57 6.800 | 60| 7.700 | 72| 6.
67 |FBE OE HTeA e 73 9. 69| 5.400 | 53| 8.300 | 66| 8.
68 |fEAR HE BH =7 |3 60| 10. 70| 5.300 | 66| 6.950 | 61| 8.
69 | AL AR VaA R [Pl 70| 9. 60| 6.550 | 70| 6.050 | 64| 8.
70 [FHH_ /NEfA Va AR [P 71 72| 5.050 [ 64| 7.500 | 64| 8.
71 |EH I HIT A 2 47 67 5.900 | 71| 5.900 | 71| 6.
2 |EE BE BEDSC 1 55 75| 4.600 | 68| 6.450 | 69| 7.
73 |HE FodE BENSC 2 55 74| 4.750 | 56| 8.200 | 73| 5.
74 |HH & HTeA 3 73 76| 4.500 | 76| 3.200 | 74| 3.

HEE MSC ! 11| 10.900 | 20| 10.650

HE A MS C ] 10] 11.200 |47 8.800




F34E HWENED1ZTRIEHHEFIEKRSE (R4.9.17~19)
¥ thEsE EFE

B3l
B B BEL Ty ®p n
I 2 BEFEL F—Lf & B8 N iz BEFE F—Lf F #BR JIE {2 EFE F—Lf F #BR JIE 52 EFH F—Lf F {5
1 ik WIHE KHEZh{AERZ 3 14.000 1 HEmE B3R 50 A i3 13.300 1 EmE B3R L5V A i3 13.750 1 KB T KHEZh{A#ERZ 2 14.000
2 Ky LA KEIAEEZ H2 13.600 2 JNIE FEE KHETh{RERZ 3 13.200 2 HBE o7z KHEIMAEEEZ F11 13.100 2 &R EIHE CKEIAEEZ 3 13.950
3 HmE X Lo A 13 13,500 3 %k EISE CkEIMAEEZ 3 12.800 3 EmMA LM WEEOSE F11 12,750 3 HEmRE SR LHwvw A 13 13.800
4 FHE LM W E S F11 12.850 4 EABRREIE 5w A 13 12.650 4 AR EIHE CKEDMEAERZ 3 12.600 4 Lt bbb KEIKEEZ 3 13.600
5 D fEhE SRC A H3 12.800 5 EHE L WEE OO E 112,600 5 En KA SRC A {13 12.200 5 EH L WL O F 411 13.500
6 R KA SRC A H3 12.600 [ KHTAE 7 F 2 12,350 5 /NEE RHEE KEDAERZ $13 12,200 6 HHE 57z KEDAERZ 1 13,250
(O - S N kWA ER 7 $1 3 12,550 7 R KFALE O SRC A 3 12.250 7 KE FIE KHEBh AR 2 12.050 7 s KB4 SRC A 3 13.200
T NE R KMThikiR 7 13 12,550 8 N FJHE O SRC A 3 12.150 8 fmL bbb KEIMEES 3 11.700 8 W= HJY FLIP A 3 13.100
T EARETHEE L5 A 13 12.550 9 BHE 57 KHEIAEEEZ F11 11.500 8 FER R YSMC A #11 11.700 9 JNEE FEE KETh{A#ERZ 3 13.000
10 Hrl L SRC A W1 12.500 10_HAE__#de MSC 111,200 10 M A YSMC A H2 11.650 10 mARREEE L bw A H3 12.900
11 B@E 57 KHEDAERZ 1 12,450 11 Bk ek MS C 1 10. 900 11 0 #HhE SRC A $3 11.500 11| A% T A MBI 3 12,500
12 BRE WK KHEIEER 7 2 12.400 12 18 HHA KEIHEERZ 3 10.800 12 KO E YSMC A H11 11.400 12 %M 3 FLIP A #2 12.400
13 g e SRC A 1 12.300 13 1iHE A YSMC A #2 10.450 13 g R SRC A ™1 11.150 12 #F WERL Ta A MEIR 2 12,400
13 (L Bk ¥ a A B 3 12,300 14 L Bk ¥ a A FELR H 3 10.100 14 H= By FLIP A 3 11.000 14 EA &R MSC F112.350
13 7 Ik YSMC A H11 12.300 15 Pl D SRC A H1 10.050 15 7T sl va AR 2 10,950 14 WM ¥4 YSMC A H12 12.350
16 W At LBV A 2 12,250 16 A IKH MS C 19,400 16 KV sk v A MBE H 3 10. 800 16 & FiJh5E  SRC A $13 12.300
17 i@\ XA YSMC A 2 12.200 16 JnpkE (=R SRC A $1 9.400 16 | A ¥ a A MBEIR 13 10. 800 17 ZH B MSC f13 12.250
18 /KM AL EHv B il 12,100 18 WHE K YSMC A #13 9.350 16 [WHE K YSMC A $13 10.800 18 HR K KEDh KR 2 120150
18 i =< B KHEIAEERZ 1 12.100 19 kB9 728 YSMC B F2 9.100 19 @i%r R R 2 =7 2 10.700 19 Jmpk MR SRC A 1 11.900
18 /NI AR EHW A 3 12,100 20 ZKH__AEdE EH B H19.000 20 Rk ek MSC 7 1_10.650 19 [hH_EK YSMC__A 3 11.900
21 BRIE BREAGE: FLIP A $3 12.050 20 LR YSMC A H1 9.000 21 HE BIK KHEIAEEZ F1 2 10.600 21 Wl OE SRC A 1 11.850
22 W AR FLIP A $2 12.000 22 wH A FLIP A $12 8.900 22 He JAE SRC 12 10.550 22 R WwEX O BRYa=7 F3 11.800
22 R A SRC f12 12,000 22 {EKOED YSMC A f11 8.900 23 )i Fi+ BERLY 2 =7 "3 10.500 23 W B FLIP B #3 11.750
22 {EKOED YSMC A H11 12.000 24 FH OB MSC f13  8.800 24 kB3 7B YSMC B 12 10.400 24 K R Va A MR 1 11,600
25 Hi%F_ BE BERY 2 =7 2 11,900 24 Ré& Ty LBV B 13 8.800 25 PRk s BERLY o =7 11 10.300 26 A fERL @Ry a=7 113 11,500
25 A A SRC B 2 11.900 26 Rk < b KHYMAERS 1 8.650 26 /NEEE B4 5V A 3 10.250 25 v ERE ¥ A MR 3 11,500
25 PR WAL Ta A B 2 11,900 27 W EE FLIP B $13 8.600 21 fERE B YSMC B #11 10.200 27 R BEEfE FLIP A F3 11.450
28 EH W& ¥ a A FEER 3 11,850 21 =K FERT #BARY=2=7 3 8.600 28 @R &3 FERLY 2 =7 3 10.100 27 EE &b KHEIhAEE S 1 11,450
28 /b AERk Va A A 13 11,850 27 i Gk Ta A FER 3 8.600 28  AfRE HhAy FLIP A 12 10.100 27 JNEE EA Db A 3 11.450
30 JEA IKEH MSC 11 11,800 30 KA fEu va A AR 138,500 30 W MSC $13 9.900 30 fEE R R o =7 11 11,300
30 (L A YSMC A F3 11.800 31 AMEH Rh# O FLIP A t$h2 8300 30 %M * FLIP A 2 9.900 30 JEKOED YSMC A H'1 11.300
32 AW W YSMC B F3 11.750 32 i EHn A 2 8.200 30 il EE SRC A 1 9.900 32 AMEHE MiF O FLIP A 2 11.200
32 ZH R MS C 3 11.750 33 HE EY FLIP A 13 8.150 30 A R TaAFEE 1 9.900 33 HAH W YSMC B H3 11.050
34 WHE EAE AT R f11 11,700 33 gk kA Ta AR 1 8.150 34 GEA KB MSC 1 9.800 34 EHEH FE SRC B 2 11.000
35 fEfk  Eay YSMC B H1 11.650 35 ER._ K KHDEER Y H2 8,100 34 A WA BERY 2 =7 13 9.800 34 KM R > a A FABE 311,000
35 A REE Ta A FEE 1 11,650 36 ek £ R =7 1 8.000 M = I<H CKHEYMAEY 1 9.800 36 EH W& ¥ a A FABE H 3 10. 950
37 =% HEE SRC B 3 11.600 37 M WAL Ta AR 2 7.950 34 EAMRFETHE S L H5v A 3 9.800 36 dE A LHv A 12 10.950
37 £ FExR EHv B 13 11.600 38 UsH AL FEORliS: 1 7.900 38 At EHv A 2 9.750 38 R IR YSMC A #1 10.900
39 K#E FY 5w B H13 11,500 38 MR JESE SRC 12 7.900 39 Bt mkrg R 2=7 T2 9.700 39 IRHE FHE EEYRRCN 11 10.800
40 B ZnE YSMC B 2 11.450 40 EH A Ya AR 13 7,850 40 /i EEE Toa AR 13 9.600 40 BP9 78 YSMC_ B 42 10.600
41 ¥= B FLIP A #3 11.150 41 ELA W& SRC B 2  7.800 41 IR 23 YSMC B 11 9.200 41 ek 2y YSMC B H1 10.550
42 AfRE A FLIP A #2 11.100 41 R FN LHv Bl 7.800 42 FH WA bT7es 109,100 41 =% HFE SRC B H3 10.550
43 EH FE SRC B 2 10.900 43 R FxHE  LoHw B 3 7.700 42 JkHE HaAE 5w B i1l 9.100 43 E% e R 2 =7 12 10.500
44 =K ERF RV 2 =7 3 10.800 44 R 2 =7 F1  17.500 44 EH TE SRC B #'2 8.900 44 NP %A Ry 2=7 F1 10.300
45 _fe i —EmGC 2 10.700 45 LBV A 137,450 44 K#E_ETY EHW» B 3 8.900 4 K& BT EHVWw B H310.300
46 R T FLIP B 1 10.500 46 FLIP B 1 7.400 46 A ZZA WEEUOFE 3 8.850 46 FiEF BHHE R =7 2 10.200
47 R LB FLIP B 3 10.400 46 R 2=7 13 7.400 47 HA WAL MSC 11 8.800 46 HRJERE SRC 12 10.200
47 IR W& R 2 =7 f3 10.400 48 R 2=7 t2  17.350 47 INELR RRAK SRC B #2 8.800 48 JRHE EIIHE Y a A MR F 2 9.950
47 A K HIA 2 10. 400 49 NF4—Jr H2 7.300 49 B BT FLIP B #1 8.700 49 fAmp EE TaAFAEE 1 9.800
Y 1 ¥ a A AR 1.3 10,400 49 VepE B YSMC_ B 1 7.300 499 K ERF R =7 113 8700 49 KM __fadk Lhw B 1. 9.800
51 JIL Fi+ R 2 =7 $3 10.300 51 JIbZ Fi+ R 2=7 3 7.200 51 ReH A Z®mGC 2 8.600 49 M FH EHw B OH1T 0 9.800
51 AiH WA R = =7 3 10.300 51 FHum &BE  bIkAH 2 7.200 52 f@H  FEE Va A FAMEE 1 8,400 52 )1 #iT- R 2=7 3 9.750
51 PR f&H R =2=7 $1 10.300 53 B AR R 2=7 12 7.050 53 HH W YSMC B #3 8.300 52 M ZZAH WMEEUOE HF3 0 9.750



54 Rk K R o =7 H 1 10.250 54 =% HEFE SRC B H3 6.900 53 fnE D BN A 18,300 54  FHA NRFE4—Jr H2 9.600
55 HUE Fndb HEVSC _H2 10.100 54 B A MWmEEUS I 3 6.900 53 &R FxR  Lhw B 13 8.300 54 Ik FIAL BHYa=7 H2 9.600
55  mife R HEDSC  H110.100 56 [iEF  AE R 2=7 2  6.850 56 HPEE FIfb HEVSC 2 8200 54 E#A W& SRC B H2 9.600
57 YE FLIP B 1 10.050 57 AR Xk IS 2 6.800 57 R BB FLIP A th3 8.150 57 fEH HA ~EGC fr2 9,200
57 L mepd R 2 =7 2 10.050 58 At WeA R 2 =7 3  6.650 58 ¥RH  FEAE SE TR 11 8.050 58 IR HE FLIP B #1 9.100
57 R FETIHE ¥ a A FAREJE Hr 2 10. 050 59 /AR T FLIP B #1 6.600 59 FHum BE bITeA 2 7.900 59 &R FxAFE  LHWw B 3 9.050
60 Al NT 4= r H2 10.000 60 e A —EmGC $2 6,550 60 __ i)t 5 FLIP B 93 __7.700 60 __fidk _ WEAT WHYa=7 13 8.950
60 Ej AR R 2 =7 H 2 10.000 60 AL Ak VaA AR BT 6.550 60 J\Bx 4&H R =7 H1 7.700 61 AR AR ERTa2=7 H3 8.700
60 fEAM AE R 2 =7 ¥13 10.000 62 M 4% FLIP B $H2 6.300 60 AR Nk BN A 2 7.700 62 fam HEE  bTRA 2 8.600
60 rinan  EY b A 12 10. 000 63 FEFR EEEME FLIP A H3 6.250 60 AT FW Lbw B i1 7.700 63 P R FLIP B 1 8.500
60 fEMH HZE Va A FEEE 1 10. 000 64 HMH W YSMC B #3 6.200 64 fRHE  NEEA VaAfAEE 1 7.500 64 AL AR TVaAFAEE 1 8.350
60 IR EWH EoHw B H11.10.000 65 &M _HE SRC._B_ ™12 6050 65 /At HAE FLIP B H2 7.150 64 ANz Ya A AR 1 8.350
66 Z£i1 AAE FLIP B #2 9.950 66 JRH &SIt Y a A MEJR 12 6.000 66 AR HE O OBRY2=7 H3 6.950 66 it Lo HIinA f1 8,000
66 AA kK FoX AN 29,950 67 A K FoN AN 2 5.900 67 =% PFRLE SRC B 3 6.500 67 IR {23 YSMC B #1 7.900
68 ZEH ZZH WEFE D F H3 9.900 68 R {3 YSMC B #1 5.750 68 mifE MER HEVSC 1 6.450 68 ZEH 4% FLIP B H2 17.850
69 FAH wmHE FoX AN 19,700 69 FEE OE FoX A 1 5,400 69 EH WMEF Va A fAEE 3 6.200 69 mEifE EXR HREVSC 1 7.800
0 MNL_ER VaAFRE 1 9.500 0 EAM BE  EBRYa=7 H13 5300 0 MNL_ER T a AFABE 41 6.050 70 A HE HInA 1 7.500
1R 3R YSMC B #1 9.450 1 fEH EEE Ta A MR 1 5,100 71 HA NF4—Jr 2 5900 1 AH K HTIRA 2 6.900
71 fRHE N x VaAFREE 1 9.450 72 FRE NE A Va A FEE 1 5,050 1 AH K HIA 2 5,900 2 AR Ek HTA 2 6.750
73 EH KFE FoN AN f13 0 9.400 73 FH WA b o A F11 5.000 73 JFHE EHE YaAAEEUE 2 5.700 73 HE Fidfk HEHVSC H2 5600
73 fE OE EoX AN 19,400 4 HE Rk HEVSC 2 4.750 74 \EE HIR Ry 2=7 2 5650 74 HH KX HTA f13 3,850
TERE erE MSC el 5 EiE EA HEDVSC  H1 4,600 T4 CEE R FLIP B H1 5650 EE et MS C 1
HE A MSC Hl1 76 WH %R 2N AN 3 4.500 76 VHH ©X RO ) 133,200 S ¥ MSC Hl



